## MA1123 - Solutions 5

**Problem (10 - p234).** Find the point in the first quadrant of the curve  $y = x^{-2}$  such that a rectangle with sides on the coordinate axes and a vertex P has the smallest possible perimeter.

Solution: The perimeter function is:

$$f(x,y) = 2x + 2y$$

$$f(x) = 2x + \frac{2}{x^2}$$

$$\Rightarrow f'(x) = 2 - \frac{4}{x^3}$$

$$\Rightarrow f''(x) = \frac{4}{x^4}$$

Since f''(x) > 0 in the first quadrant, the solution to f'(x) = 0 will give us the minumum, which is  $P = (2^{1/3}, 2^{-2/3})$ 

**Problem (14 - p234).** A wire of length 12cm can be bent into a circle, square, or cut into two pieces to make both. Find the length of wire used for the circle which a) minimises and b) maximises the enclosed area.

**Solution:** Let the square have length a and the circle have radius r. Then the function we want to maximise is  $f(a,r) = a^2 + \pi r^2$  subject to constraint  $12 = 4a + 2\pi r$ , so we substitute  $a = 3 - \frac{\pi}{2}r$  to get the function:

$$f(r) = (3 - \frac{\pi}{2}r)^2 + \pi r^2$$

$$\Rightarrow f'(r) = -\pi(3 - \frac{\pi}{2}r) + 2\pi r$$

$$\Rightarrow f''(r) = \frac{\pi^2}{2} + 2\pi$$

Since f''>0, the solution to f'(r)=0 will be a local minimum, and since f(r) is quadratic this is also the global minimum. This is at  $r_0=\frac{6}{4+\pi}$ . To determine the global max we must look at the endpoints, r=0, a=0, which give  $r_1=0, r_2=6/\pi$  when the wire is used entirely for the circle or the square. Now

$$f(r=0) = 9$$
$$f(r=6/\pi) = \frac{36}{\pi}$$

Since  $\pi < 4$ , we know  $\frac{36}{\pi} > \frac{36}{4}$  and so the area is maximised when the wire is used entirely to form a circle. (In general this is the isoperimetric inequality).

**Problem (30 - p234).** A closed cylindrical can is to have a surface area S. Show that the volume is maximised when the height is equal to the diameter of the base.

$$a = 0 \Rightarrow r = \sqrt{\frac{S}{4\pi}}$$

$$r = 0 \Rightarrow a = \sqrt{\frac{S}{6}}$$

$$V(a = 0) = \frac{4}{3}\pi \left(\frac{S}{4\pi}\right)^{3/2}$$

$$V(r = 0) = \left(\frac{S}{6}\right)^{3/2}$$

Numerically checking gives that the volume is maximised when a=0 and the surface area is entirely used for the sphere. (This is the 3d version of the isoperimetric inequality).

MAII23 / Surya. 5 / pages 234-237

(344)

a) 
$$\mathcal{L}(x) = x \cdot p = x \cdot (1000 - x)$$

b)  $P(x) = \mathcal{L}(x) - \mathcal{L}(x) = x \cdot (1000 - x) - (3000 + 20x)$ 
 $= 980x - x^2 - 3000$ 

c)  $P'(x) = 980 - 2x = 0 \Rightarrow x = 490$ 

d)  $P(490) = 237100$   $P(0) = -3000$   $P(0) = -3000$ 

e)  $P(p) = 980 \cdot (1000 - p) - (1000 - p)^2 - 3000$ 

d)  $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 
 $P(p) = 980 \cdot (1000 - p) = 0$ 

$$t = \frac{x}{ne}, \quad n = \frac{x}{10-0.09ne}, \quad x : total alisabance.$$

$$\Rightarrow C(x, ne) = \frac{15x}{ne} + \frac{2.5}{10-0.09ne}, \quad testal cost.$$

$$Cost per mile: c(ne) = \frac{15}{ne} + \frac{2.5}{10-0.09ne}.$$

$$\frac{dc}{dne} = -\frac{15}{ne^2} + \frac{10.09}{10-0.09ne}.$$

$$\Rightarrow -15(10-0.09ne)^2 + 2.5.0.09ne^2 = 0$$

$$\Rightarrow ne = 56.1759 \text{ miles /hour}$$

$$\frac{1}{\sqrt{|x^{2}+1|}} = \frac{1}{\sqrt{|x^{2}+1|}} + \frac{1-x}{5}$$

$$\frac{1}{\sqrt{|x^{2}+1|}} = \frac{1-x}{\sqrt{|x^{2}+1|}} + \frac{1-x}{\sqrt{|x^{2}+1|}} + \frac{1-x}{\sqrt{|x^{2}+1|}} = 0.466$$

$$\frac{1}{\sqrt{|x^{2}+1|}} = \frac{1-x}{\sqrt{|x^{2}+1|}} + \frac{1-x}{\sqrt{|x^{2}+1|}} = 0 \implies x = \frac{4}{\sqrt{3}} \text{ mi } = \text{end of } x = \frac{4}{\sqrt{3}} \text{ mi } = \text{end of } x = \frac{4}{\sqrt{3}} \text{ mi } = \text{end of } x = \frac{4}{\sqrt{3}} \text{ mi } = \text{end of } x = \frac{4}{\sqrt{3}} \text{ mi } = \text{end of } x = \frac{4}{\sqrt{3}} \text{ mi } = \text{end of } x = \frac{4}{\sqrt{3}} \text{ mi } = \text{end of } x = \frac{4}{\sqrt{3}} \text{ mi } = \text{end of } x = \frac{4}{\sqrt{3}} \text{ mi } = \text{end of } x = \frac{4}{\sqrt{3}} \text{ mi } = \frac{4}{\sqrt{3$$

24 (a) /(b) = \frac{1}{x} - a. 1'(x) = -1 Xn+1 = X'n - (100)  $= \times_{h} - \frac{1}{\times_{h}} - \alpha$   $= \times_{h} - \alpha$ = Nh + Xn -axn = xn(2-axn) (6) to approximete -Let x, = 20 = , 05. X = .05 (2-17(.05)) = .0575 X3=.0875 (2-17(.0575)) = . 8588 correct to 4 d.pl. Note correct answer . 0588235 --

11 False Roller theorem also need fines to exist on (a, b) Counter example a la transport. 12 True. (10) = (6) - (6) = Average 13 False (x) = 2x g(x) = 3x. J'(N) = 2 g'(N) = 3

J(-g' = constant)

J + S

We used the M.V. Th.

to prove Theorem 3.1.2. 15 /N)= \( \tan \times \) \[ \langle \ to on (o, M) But fine is not diff at M/2 16  $\int_{1}^{1}(x) = x^{2}/3$  a = -1 b = 8.  $\int_{1}^{1}(a) = 1$   $\int_{1}^{1}(b) = 4$ .  $\int_{1}^{1}(b) = \frac{1}{8-(1)} = \frac{1}{3}$ . 11(x)= 2/3 x-1/3 = /3 => /2 => x-1/2 = 1/2  $\Rightarrow x^{1/2} = 2$   $\Rightarrow x = 8$ But for is not diff at x=0.

(a) Two x-intercepts of for) => {@/2 | (6) = 0. By Roller Thm Z accel vitt \$10100 ff) y= -x2+4 y=v ot x=±z dy = -2x =0 at x=0. y= sin & y=0 at x=0, Tr dg = 000 x 20 ot x = 7/2 (b) = 3x4 + x2 - 4x f(0)= 0 f(1)=0 By Rolles Thin I a in Co, 1) ut 11(c)=0 /(b)=2x3+2x-4 f(x) - f(y) = f'(c) x - y[](x) - J(y) 1 = 1/(c) / (x-y) > Mlx-yl

(b) Let /10)= tom x on (-4, 14) /(10)= - 1 on (-T/2, T/2) - 1 tan x - tan y / > 10-y/ all x,y in ( T/2, T/2) (C) Il y is in (-T/2, to/2) so is and tan(-y) = Sin(-y) = tany. Hence Itan x-tan(-y) 7 (x-(-y)) re Itan x + low y > (x+y).